
W
O

R
K

S
H

O
P

T
E

C
H

.S
E

R
V

IC
E

S
2
0

0
9

GENIUS  
TOOL SET

2



W
O

R
K

S
H

O
P

T
E

C
H

.S
E

R
V

IC
E

S
2
0

0
9

GENIUS TOOL SET 2 - 01

To repair or replace the bearings of the pivot points of Genius we offer following articles:

The tool set will contain, beside all tools in stainless steel quality, a CD showing all steps of 

the bearing disassembly and assembly as well as all needed technical data as e.g. tighte-

ning torques etc.

The Swingarm Rep Set will contain beside the bearings all nuts and bolts to replace all 

moving parts or parts of wear and tear of a Genius bike.

Pls have a look at following pics giving you an overview about all needed steps:

TOOL- SWINGARM GENIUS 09 1size

SWINGARM-Rep. Set GENIUS 09 1size

212744

212749

BEARINGS REPLACEMENT TOOLS

PART NAME QTY. PICTURE

S1 1

S2

S3

1

1

BEARING 3
61800 2RS (19 x 10 x T5)

S3

S6

S7

1

1

1

61800-2RS (19 x 10 x T5)

S8

S9

S11

1

1

1

BEARING 2
61900-2RS (22 x 10 x T6)

S11

M8 washer

1

1

M8 nut 1

BEARING 1
61900-2RS (22 x 10 x T6)

Circlips

pliers
1

BEARING 4
61800-2RS (19 x 10 x T5)



BEARINGS REPLACEMENT TOOLS

BEARING 1 / TAKE OFFBEARING 1 / TAKE-OFF

1) TAKE-OFF HARDWARE 2) TAKE-OFF BEARINGS

Step 1p

FINAL

Step 1

Step 2 S7

S6

BEARINGS REPLACEMENT TOOLS

BEARING 2 / TAKE OFFBEARING 2 / TAKE-OFF

1) TAKE-OFF HARDWARE Step 3

Step 1

Step 3

Step 1

Step 1

Step 2

S6

p

2) TAKE-OFF CIRCLIPS 3) TAKE-OFF BEARING

S7

Pliers

BEARINGS REPLACEMENT TOOLS

BEARING 3 / TAKE OFFBEARING 3 / TAKE-OFF

1) TAKE-OFF BEARINGS
2) TAKE-OFF CIRCLIPS

Pliers

W
O

R
K

S
H

O
P

T
E

C
H

.S
E

R
V

IC
E

S
2
0

0
9

GENIUS TOOL SET 2 - 02

TAKE- OFF



W
O

R
K

S
H

O
P

T
E

C
H

.S
E

R
V

IC
E

S
2
0

0
9

GENIUS TOOL SET 2 - 03

BEARINGS REPLACEMENT TOOLS

BEARING 4 / TAKE OFFBEARING 4 / TAKE-OFF

1) TAKE-OFF HARDWARE 2) TAKE-OFF CIRCLIPS

Pliers

3) TAKE-OFF BEARINGS

S1

S2S2

M8 WASHER

M8 NUT

BEARINGS REPLACEMENT TOOLS

BEARING 1 / MOUNTBEARING 1 / MOUNT

(B i 61900)

1) MOUNT BEARINGS

M8 NUT

M8

S8

S1

(Bearing 61900)

M8S1

S9

WASHER

(Bearing 61900)

2) MOUNT HARDWARE2) MOUNT HARDWARE

Step 2 (5Nm)

Step 2 (5Nm)

Step 1 (2Nm)

BEARINGS REPLACEMENT TOOLS

BEARING 2 / MOUNTBEARING 2 / MOUNT

1) MOUNT BEARINGS M8 NUT 

M8 WASHERM8 WASHER

S3

(Bearing 61900)

S8

S1

2) MOUNT CIRCLIPS 3) MOUNT HARDWARE

(5Nm)

(5Nm)

Pliers

MOUNT



W
O

R
K

S
H

O
P

T
E

C
H

.S
E

R
V

IC
E

S
2
0

0
9

GENIUS TOOL SET 2 - 04

BEARINGS REPLACEMENT TOOLS

BEARING 3 / MOUNTBEARING 3 / MOUNT

1) MOUNT CIRCLIPS
2) MOUNT BEARINGS

M8 NUTM8 NUT

M8 WASHER

S11

(Bearing 61800)

Step 2

Step 3

( g )

(Bearing 61800)

S1

Step 1

S1

Step 1StepStep 11

Pliers

BEARINGS REPLACEMENT TOOLS

BEARING 4 / MOUNTBEARING 4 / MOUNT

1) MOUNT CIRCLIPS 2) MOUNT BEARINGS
3) MOUNT CIRCLIPS

4) MOUNT HARDWARE

(9Nm)

S1

(9Nm)

( )

(Bearing 61800)

S2

S3

M8 WASHER

M8 NUT

The bearings are standard size and can also be ordered in local hardware stores, in case 

customers do not want to replace all parts.

One frame needs following bearings:

2 x 61900-2RS (Ø22xØ10x6)

6 x 61800-2RS (Ø19xØ10x5)


